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Question Number : 66 Question Id : 6323866961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2
Let A={1.2.3}. Consider the relation R={(1.1),(2.2).(3.3).(1.2).(2.3).(1.3)}. Then R 15

1. reflexive only

| )

. reflexive and transitive

. symmetric and transitive

L

4. neither symmetric nor transitive

Options:
63238627841. 1
63238627842. 2



63238627843. 3
63238627844. 4

Question Number : 66 Question Id : 6323866961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

I B A={1,2.3} F8Y R={(1.1).(2.2).(3.3).(1.2),(2.3),(1.3)} R [FIR BIfSUI AR
1. $aq WAqd §
2. Wl AR bS8
3. gAfd 3R I &
4. AT IR 7 & dome

Options :

63238627841. 1
63238627842. 2
63238627843. 3

63238627844. 4

Question Number : 67 Question Id : 6323866962 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




If /: R—R 18 defined by f(x) = sinx + x, then f (f (x)) 1s:

1. 2sinx + 2x

-~

w % )
L BUY X T X

| )

. sin(sinx + x) + sinx + x

L)

4. sin®x + 2sinx + x
Options :
63238627845. 1
63238627846. 2
63238627847. 3

63238627848. 4

Question Number : 67 Question Id : 6323866962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

IR f:R—R EIEEIE %f{ﬂ = siny + x, di F(F(x) %.

1. 2sinx + 2x

-~

. ,
SUTX T X

!u

. smn(smx +x) + sinx + x

L]

4. sin®x + 2sinx + x
Options :
63238627845. 1
63238627846. 2

63238627847. 3

63238627848. 4



Question Number : 68 Question Id : 6323866963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

h'l.lil Lan ] X+ cot [ X
fE

Value o ,x € [-1, 1], 1s:

sin| sin "x+cos "X

e

!_J
(=

L]
—

Options :

63238627849. 1
63238627850. 2
63238627851. 3

63238627852. 4

Question Number : 68 Question Id : 6323866963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




i tan X+ col x|

€

x€[-1, 1], PIHAAR:
xiug gin 'x+cos 'y

€

!u
ba | 5

9 |

i
4.5

¥

Options :

63238627849. 1
63238627850. 2
63238627851. 3

63238627852. 4

Question Number : 69 Question Id : 6323866964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




Match List I with List IT

LISTI LISTII

— - 1 =
Alsin x4+ Cos :f,.‘fe[—Ll L™=

E. |tan I'\./g—CDT. I(—\/E) IL.

C. |[COS8 CO5- 6 III.

|
¥y o]l

Choose the correct answer from the options given below:

1. A-III. B-I. C-IV. D-II

| ]

CA-IV. B-I, C-I1. D-III

CA-IL B-IIIL C-IV., D-I

Laa

4. A-I. B-II. C-III. D-IV

Options :

63238627853. 1
63238627854. 2
63238627855. 3

63238627856. 4

Question Number : 69 Question Id : 6323866964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




I 1 DT AT 11 P 1Y e Sifey

Gl T
g i) -1 - T
Alsin "x+cos X, IE[—!.I_ L [T
| | { T
E. |tan ﬁ—cm (—ﬁ) I =
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: |[. 137 ) T
. |cos COs5 - . I11. j—
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i fod 74 fahedl & gl 3R &1 9094 B :

1. A-IIL. B-L. C-IV, D-II

| ]

CA-IV, B-IL C-I1. D-III

AL B-IIIL C-IV, D-I

LI

4. A-L. B-II. C-III. D-IV

Options :

63238627853. 1
63238627854. 2
63238627855. 3
63238627856. 4

Question Number : 70 Question Id : 6323866965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




The function f (,1' ] =———-—0sx#l, f (] ] = 1. 1s discontinuous at

x(x*-1)

1. Exactly one point

| )

. Exactly two points

. Exactly three points

L)

4. No point

Options :

63238627857. 1
63238627858. 2
63238627859. 3

63238627860. 4

Question Number : 70 Question Id : 6323866965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

BT £ (x) =— o

LIe@pa i@ fegw
fopaaifogsi®
foepa din fdgaiw
4. Tl fog TR AGT

| ]

L)



Options :

63238627857. 1
63238627858. 2
63238627859. 3
63238627860. 4

Question Number : 71 Question Id : 6323866966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

1

. . . = 2y . .
The dertvative of sin(tan™" ¢~* ) with respect to x is:

v LT ~1 2y
T :un(lzm e~ )

1+ e

T o F s
et ::{:-_'-;[tan ' 9"‘]
4x

!_u

l1+¢

Y . _ 1 R
2¢-" sin [lun i ]

L]

=
1+ "

2 =2 .
4 2¢**cos(tan ! €°7)

"

5
1+e”

Options:

63238627861. 1
63238627862. 2
63238627863. 3
63238627864. 4

Question Number : 71 Question Id : 6323866966 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

sin(tan™! ¢ ) x b g o oqdd g

e

2e-* sin(lan e” ]
4 x

l+e

-~

¥ o T
2" CE)S[[HI] ] e"‘]

| ]

1+ -:*J' %

3 2x s | oy
2e”7snftan e

B

L]

1+ e

4 262"'cns{tan"' eh)

o

2
l+¢

Options:

63238627861. 1
63238627862. 2
63238627863. 3
63238627864. 4

Question Number : 72 Question Id : 6323866967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




3 9 v
If 1 -x? \.'f] -y =a(x-y} then & =

dx

el
[ jmt
|
-—

“Yica

—T
3 | —x~°

1+ ‘l'l
%
1+ x°

i)

4

4,

Options :

63238627865. 1
63238627866. 2
63238627867. 3
63238627868. 4

Question Number : 72 Question Id : 6323866967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




dx
i
’\I—_L“
T
:.\K.';ij..
| —x*

Options :

63238627865. 1
63238627866. 2
63238627867. 3
63238627868. 4

Question Number : 73 Question Id : 6323866968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

A manufacturer can sell x items at a price of Z3x+5 each. The cost price of x items 18 3x” + 5x. If x 15 the
number of items she should sell to get no profit and no loss, then:

l.x=10
2.x=30
3.x=0

4.x=-10



Options :

63238627869. 1
63238627870. 2
63238627871.3

63238627872. 4

Question Number : 73 Question Id : 6323866968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

TS JIE X STl & 3+ I T8 1 & 4 o bl 6 | X G 1 QFTel el & X2+5X |1
Y, 7 B & o STl 1 U X

Lx=10

2.x=30

J.x=0

4.x=-10
Options :
63238627869. 1
63238627870. 2

63238627871. 3
63238627872. 4

Question Number : 74 Question Id : 6323866969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ2

The approximate volume of a cube of side a meters on increasing the side by 4% 1s:
1. 1.04a° m”

o | .{}{}433 1113

| B}

. 33
3.1.12a7 m
4: 1128 m”

Options :

63238627873. 1
63238627874. 2
63238627875. 3
63238627876. 4

Question Number : 74 Question Id : 6323866969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

U HIeX I Yol & °91 DI YSIl 4% GId & al SUDT TFd Bl THIT

1.1 .{}4a3 1113’

| ]

. 1.004a° m°

.1.12a” m”

L%

g |
4.1.12a° m-~

Options :



63238627873. 1
63238627874. 2
63238627875. 3

63238627876. 4

Question Number : 75 Question Id : 6323866970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

. - 3 i) '
The maximum slope of the curve y =—x" + 3x~ + 9x — 27 is:

1.0

| )

12

3.16

4. 32
Options :
63238627877. 1
63238627878. 2

63238627879. 3

63238627880. 4

Question Number : 75 Question Id : 6323866970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ2

W}‘=—x3—312+9r—27ﬁ3mﬁﬁ%:

1.0
2.12
3. 16
4.32

Options :

63238627877. 1

63238627878. 2

63238627879. 3

63238627880. 4

Question Number : 76 Question Id : 6323866971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




Match List I with List IT

LISTI LISTII
sin x =
A —_ I fan x
| +cosx € +C
1
B. x| I |log(logx+1)+ C
| —tanx
Emn".t
C. j - dx L | -log [l1+cosx| + C
|+ x°
| 1= 1 3
D. _[—m- IV. | =——log|cos x —sin x|+ C
x+xlogx 5

Choose the correct answer from the options given below:

1. A-I1. B-III. C-IV, D-I

| ]

AL B-IV. C-IL D-II

CA-L B-ILL CA-IIIL D-IV

L]

4. A-IV, B-1, C-I1I1, D-II

Options :

63238627881. 1
63238627882. 2
63238627883. 3

63238627884. 4

Question Number : 76 Question Id : 6323866971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2
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GGl H
- sin x " : tan—
: — 2 -
1+ cosx € +C
I | _
B.| | ——dx |IL [logllogx+1) + C
l—tlanx
Emn".t
C. j 1 dx IIL | -log [1+cosx| + C
| +x
D _[ l e v |E 1l-:::- 0 n |+C
L 4 o [ g et
' x+xlogx 12 2 8|COsx —SIn x
i T30 72 fadeul © Hel IR &1 989 S »

1. A-IIL, B-III. C-IV. D-I

| ()

CA-IL B-IV. C-IL D-II

CA-L B-IIL C-IIIL. D-IV

L)

4. A-IV, B-1. C-I1I1, D-II

Options :

63238627881. 1
63238627882. 2
63238627883. 3

63238627884. 4

Question Number : 77 Question Id : 6323866972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




fl o i
+x+x" | -1,
jl X=X emn X

— | dx =
1+x= )}

1. .. tan—1x

i
L

| ]

L)

Options :

63238627885. 1
63238627886. 2
63238627887. 3

63238627888. 4

Question Number : 77 Question Id : 6323866972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

f

o

jl 1+x+x" | tanly

—j _e
1+x= )}

dy =

R o
Loy et x, .

| ]

i
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Options :

63238627885. 1
63238627886. 2
63238627887. 3
63238627888. 4

Question Number : 78 Question Id : 6323866973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

. ) . .
The area of the region bounded by the parabola 3~ = 4ax and its latus rectum 1s:

4a*
3

5. units

| o]

5q. units

L]

3. units

5q. units

3

Options :

63238627889. 1
63238627890. 2
63238627891. 3

63238627892. 4

Question Number : 78 Question Id : 6323866973 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

TRAAT 32 = 4ay 3R SUD ANHAE gRI R &9 HT 895d § -

1. 307 gfeprd
3

8a” e
3

20° o
3

| )

L]

=
429" Figwr
5
Options :
63238627889. 1
63238627890. 2
63238627891. 3

63238627892. 4

Question Number : 79 Question Id : 6323866974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




The area of the region bounded by the limes x =2y + 3. x=0.v=1and y=-1 1s:

1. 4 5q. units

-2

. 6 5. units

. 8 sq. units

a2

e

. — 5. units

Options :

63238627893. 1
63238627894. 2
63238627895. 3

63238627896. 4

Question Number : 79 Question Id : 6323866974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

A3 x =2y +3.x=0,y=1 3R y=-1 AR §T & FT &% &
1. 4T 5Pl

6 a1 gblg

8 g gdls

%aﬁwré

| ]

Tl

e

Options :
63238627893. 1
63238627894. 2

63238627895. 3



63238627896. 4

Question Number : 80 Question Id : 6323866975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

b ]

ﬁ%mHMrNMWmoﬁ&dﬁ&ﬂmﬂamMmHMgLJ—}:x+jhgwnﬁﬂwknr=&y=0m

dx
l.ef+e¥=2
2.e%+e=2
J.ef+eh=2
4, ¢%+e%=2
Options :

63238627897. 1
63238627898. 2
63238627899. 3

63238627900. 4

Question Number : 80 Question Id : 6323866975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




'

gfg x=0.y=0, §.l SAHT THDI log

ﬁ}—rﬁr.ﬁmﬁ?ﬁ%:

\dx

| ]

(1]
b

+

(L
Il

[ ]

aa
L]
el
+
.
I
[ ]

4. e¥+e¥=2

Options :

63238627897. 1
63238627898. 2
63238627899. 3
63238627900. 4

Question Number : 81 Question Id : 6323866976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

Ef ! .
Solution Df;l = (] o )(] + _1:2 )1'5:
dx / :

| ]
|
et

Options :



63238627901. 1
63238627902. 2
63238627903. 3

63238627904. 4

Question Number : 81 Question Id : 6323866976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2
dy

E:(I+_w:3)(l +_1-*2)$f€ﬁ%:

| ]
|
=

lan V=X——+¢(
"(R
3.tan~' p=x" +—+¢
3
3
4. tan I1'=x'j' —E
3
Options:
63238627901. 1

63238627902. 2
63238627903. 3
63238627904. 4

Question Number : 82 Question Id : 6323866977 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0




Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

If a line makes angles 90°, 60° and 6 with x. y and 7 axis respectively, where 6 15 acute, then value of  1s:

].._

v | =

2 | =

Options :

63238627905. 1
63238627906. 2
63238627907. 3
63238627908. 4

Question Number : 82 Question Id : 6323866977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




TR T T 90°, 60° 3R 6, x, y 3R 2 318 & AL HI GTcl &, a1 6 U IV 6l 6 P A

ld_

o )
e | 3y

a | =

2 | =

Options :

63238627905. 1
63238627906. 2
63238627907. 3
63238627908. 4

Question Number : 83 Question Id : 6323866978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




Match List I with List IT

LISTI LISTII
The area of parallelogram determined by
fvectors 2 gnd 37

B.[The value of (7 X J)k +( jx k)i ILJ
The values of a for which the vectors

G397 37 + 4k and af — 67 +8k are Lo

collinear.

The value of & for which the vectors
DRi+ j+k and 2i =4+ Ak are V|6
[perpendicular

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

[ ]

CA-IL B-I. C-II1. D-IV

CA-IIL, B-IV, C-I1L D-I

L)

4. A-IV, B-1. C-II, D-III

Options :

63238627909. 1
63238627910. 2
63238627911. 3

63238627912. 4

Question Number : 83 Question Id : 6323866978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




Match List I with List IT

LISTI LISTII

A_qqﬁqﬁ zfx}nqywﬁrﬂ"rﬁﬁw b
EEREEI RN

B. {fx_;)-kn+(_f><é}-f PTHA ik

o [6R=1 27 = 3] +4k 3R al — 6] +8k 3|y |,
qAYE giH @ folt 2 &1 HH :

o [FOR 20 + j+k R2% +47+ 2k P ||,
SEEEEEEARLPAaRIIG)

Choose the correct answer from the options given below:

1. A-I. B-IL. C-III. D-IV

| ]

CA-IL B-IL CH-IIIL D-IV

L]

AL B-IV. C-I1L D-I

4. A-IV, B-I, C-IL. D-III

Options :

63238627909. 1
63238627910. 2
63238627911.3
63238627912. 4

Question Number : 84 Question Id : 6323866979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




A Equation of the line passing through the point (1. 2. 3) and parallel to the vector
oo ame Tl Yod 93
Yi+2j-2kis—=—=—u,
} 2 -2

B. Equation of line passing tlu‘ough-(l. 2. 3) and parallel to the line given by

i+ d-y 48 x-l y-1 z+4]
— == f—=—=—

3 5 6 3 3 b
C. Equation of line passing through the origmn and (5. -2, 3) 15 X J.-2

D. Equation of plane passing through the point(1, 2. 3) and perpendicular to the line with direction ratio's 2,
3,-115 20-1y+3(3-2)-1(z-3) = 0.
E. Equation of plane with intercepts 2, 3 and 4 onx, y and z-axis respectively is 2x + 3y + 4z =1.

Choose the correct answer from the options given below:
LA Eonly
2.A,C.Donly
3.C.D.E only

4.E only

Options:

63238627913. 1
63238627914. 2
63238627915. 3
63238627916. 4

Question Number : 84 Question Id : 6323866979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




[ws]
[we]
=i
i
3
n
”4'-'
e
II‘_.
|2
%
)
3
E
IM

3 5

c. R g R (5. 2. 3) oA e R o e = 2 =

D. 183 (1,2, 3) 0 TORA 1%, 0 0 o o TR 2, 3, 1 3 o et 31 Tt 2o
13(=2-1(-3)= 08 ﬂ ,
E. T Fo x, y 3R 2- 31 TR 3(0: TS A 2, 3 AR 4§ BT WHBRU g 2+ 3y +4z=1.

A feU e faeedt # 9 el IR @1 T DI
1. A, E
2. BITA,C.D
3,41 C, D, E
4, BATE

Options :

63238627913. 1
63238627914. 2
63238627915. 3

63238627916. 4

Question Number : 85 Question Id : 6323866980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




. x+2 y-3 z+5 -
The angle between the line = ——— - and the plane 2x + 10y — 11z=5 1s:
A e )
I
8 Y
1.cos —|
21
b
{8 )
2.sin”"! —J
\21

aa
=
=]
(]
I
.
::c|
-2
o ——

Options :

63238627917. 1
63238627918. 2
63238627919. 3

63238627920. 4

Question Number : 85 Question Id : 6323866980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




= e T i
war X200 3_*::‘ AR TIAA 2+ 10y — 11z=F ST PTHOTE
i )

3 2
Q N
1. cos l[—|
\2!/'
(

2.sin”! i]
\ 21

3.cos ﬂ
82

I
4 sin"['_—lj
82

Options :

63238627917. 1
63238627918. 2
63238627919. 3

63238627920. 4

Question Number : 86 Question Id : 6323866981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

The feasible region of an LPP Max Z = 3x + 2y subjecttox = 0,y = 0, x— 2y < 3 1s:
1. Bounded in first quadrant but has no solution
2. Unbounded in first quadrant but has a solution
3. Unbounded in first quadrant and has no solution

4. Bounded and has a solutionx=0,y=0.Z=0

Options :



63238627921. 1
63238627922. 2
63238627923. 3

63238627924. 4

Question Number : 86 Question Id : 6323866981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

T 381 WM P 3a6%0 BeH Z=3x+ 2y FRIT x>0,y 0, x- 2y < 3 & FY PTYY 87 -
1 W Tauie H ORaS ¢ R 318 50 Tl ¢
2, W T UNES 8. 3R SHeI & g
3, W T H GURES 8, AR PIS 51 1ol o
4 INGGE IR x=0,y=0,Z=0 THFI & 8|

Options:

63238627921. 1
63238627922. 2
63238627923.3

63238627924. 4

Question Number : 87 Question Id : 6323866982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :




Key Value

Comprehension MCQ2

The linear constraints, for which the shaded area m the figure 1s the feasible region of an LPP. are :

Y
N
30

40 1
30 1
20 (30,20)

10 £

¥ <€ Ll ——— X
O1 10 20 30 4?\%\

f

‘1,

Lx+y=50
xx+y<80
x,y=0

2.x+y<50
xx+y=80
x,y=0

lx+y<50
x+y<80
x,y=0

4.x+y=350
x+y=80
x,yz0
Options:
63238627925. 1
63238627926. 2
63238627927. 3

63238627928. 4

Question Number : 87 Question Id : 6323866982 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2
STifthd &= T ferary 7 Qe & are X W & 38 TR §

(30,20)

¥ < L L4 —t—t—> X
Ulm 20 30 4}\5{1 0

(]
,.-<
|
Pt
%
r
[

Options:

63238627925. 1
63238627926. 2
63238627927.3

63238627928. 4



Question Number : 88 Question Id : 6323866983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

Two dice are thrown simultaneously. If X denotes the number of sixes, then the variance of X is:

e | —

[FE

Options:

63238627929. 1
63238627930. 2
63238627931.3

63238627932. 4

Question Number : 88 Question Id : 6323866983 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




AT HHFIRIAEX T A S T8, 9l X BTURUE -

| ()
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'_l..u
L) | —

-
L | b2

Options :

63238627929. 1
63238627930. 2
63238627931.3

63238627932. 4

Question Number : 89 Question Id : 6323866984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

Probabilities to solve a specific problem by A, B and C are %% and % respectively. Probability that at least

one will solve the problem 1s:

I
24

[ ]

[
2| o | —
o | a2

el



Options :

63238627933. 1
63238627934. 2
63238627935. 3
63238627936. 4

Question Number : 89 Question Id : 6323866984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

A.B 3R ¢ g ot Ry e 1 50 o ) e %% 3R % HEREE i
2R T £ B ) T 8 )

Options :

63238627933. 1
63238627934. 2
63238627935. 3
63238627936. 4

Question Number : 90 Question Id : 6323866985 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

Which of the following statements 1s NOT CORRECT.

1. A row matrix has only one row.

-2

. A diagonal matrix has all diagonal elements equal to zero.

L}

. A symmetric matrix 18 a square matrix satisfying certain conditions.

4. A skew-symmetric matrix has all diagonal elements equal to zero.

Options :

63238627937. 1
63238627938. 2
63238627939. 3

63238627940. 4

Question Number : 90 Question Id : 6323866985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




FoffEa d Y FH - THUT Tel Tl 8 2
1. U Yfaq 3fregg d dad U Ufed sidl g
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U GHHG 3ITo0g $3 W6 & 1Y TP 7 g Bl 2

4. U faun.g0id sroug & i fadul s/aua YU g B

Options :

63238627937. 1
63238627938. 2
63238627939. 3

63238627940. 4

Question Number : 91 Question Id : 6323866986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

, [ cos® sind ] s
If the matrix A =| , then A< 18 equal to:
| —sinf cosd |

[ cos20 sin20 ]

—sin 28  cos .?!f?_

9 gz q
cos~ @ sin~

!_-\_J

-

" ]
—sin~ & cos” f?_

7 r 55
cosf?)  sinf”

L}

y ) 2
—sind cns:‘i‘_

[cosd +sind  cosd—sind

| sinf—cosf cosd+sind

Options :



63238627941. 1
63238627942. 2
63238627943. 3

63238627944. 4

Question Number : 91 Question Id : 6323866986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2
[ cosf sind 4
afE ST A =| dl A2 SRR © -
| —siné cosd
1 [ cos20 sin20]
' | —sin28 cos20 |
2 i cos” @ sin’ .‘?_
l _—sin:{? cos> 0
= [ cos@®®  sin@? |
3. - -
| —sinf)”  cos” |
4 (cos@ +sinf  cosd—sind
: _.‘;il]f;"—fﬂ.‘-‘-H cos 6 +5in |‘5'_
Options :

63238627941. 1
63238627942. 2
63238627943. 3

63238627944. 4

Question Number : 92 Question Id : 6323866987 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum




Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2
0 x+y 1]
If the matrix A=| 3 z 2|18 skew-symmetric, then :
x—=yp =2 0

[ ]
¥

Il
!..a
b
Il
| ]
I
I
o

L]
:;44
|
|
!4
b
Il
|
—
]
Il
o

Options :

63238627945. 1
63238627946. 2
63238627947.3

63238627948. 4

Question Number : 92 Question Id : 6323866987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2
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Options :

63238627945. 1
63238627946. 2
63238627947.3

63238627948. 4

Question Number : 93 Question Id : 6323866988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

If A 1s a square matrix of order 3. then |adj Al 15 equal to:

1. A

|
iad
t

AP

L]

4. 3|A|

Options :
63238627949. 1
63238627950. 2



63238627951. 3

63238627952. 4

Question Number : 93 Question Id : 6323866988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

qfe A UP Pife 3 BT o STHE § l ladj A P SRR 5

1.JA]

| )
bl
&

AP

L]

4. 3/A]

Options:

63238627949. 1
63238627950. 2
63238627951. 3

63238627952. 4

Question Number : 94 Question Id : 6323866989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2




a b 1

If three points A(ay, b;), B(ay, by) and C(ay, bs) are collinear and D=| @, b, 1|, then:

2. D=+l
3.D*=00rl

4 D= (ﬁl_ a7 + 33) = [b1+ ]J: T bjjl

Options :

63238627953. 1
63238627954. 2
63238627955. 3

63238627956. 4

ay b, 1

Question Number : 94 Question Id : 6323866989 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks :

Question Key Details :

1

Key

Value

Comprehension

MCQ2

a, b 1

TS & 16 Aa;. by). B(ay. by) 3R Claz, by) FREIAE, D=|a, b, 1|dl

1. D=0

[
i
I

+]

3.D°=0orl

ay b, 1

4. D= {al— Hz"’ 33}— [b1+ bz_ IJ_:!']




Options :

63238627953. 1
63238627954. 2
63238627955. 3
63238627956. 4

Question Number : 95 Question Id : 6323866990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2
cos@ singd 0
If A=|-sind cos@ 0 |andB is a square matrix of order 3. then |AB| is equal to:
0 0 |
1. B
2. B|
3. sin’8 B
4. cos*f |B
Options:

63238627957. 1
63238627958. 2
63238627959. 3

63238627960. 4

Question Number : 95 Question Id : 6323866990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

cosf  sind 0
OfE A=|-sind cosf 0|3R B UD BIC 3 P T § ol |AB| RERX T -

0 0 |

1. [BJ

| ]

. Bl

. 5in-0 B

%]

. cos28 B

=N

Options :

63238627957. 1
63238627958. 2
63238627959. 3

63238627960. 4

Sub-Section Number : 2
Sub-Section Id : 632386305
Question Shuffling Allowed : No

Is Section Default?: null

Question Number : 96 Question Id : 6323866991 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




The range of the function f(x) = . 18

3—sindx
Y 1
| = =
4 2]
2| L
|2 ]
By - §
Jdo| ——
Ly A
Fa ']
| = o=
(2 4]
Options :

63238627961. 1
63238627962. 2
63238627963. 3

63238627964. 4

Question Number : 96 Question Id : 6323866991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




B f(x) = — DIIRIE:

3—sindx
ERG
1.| —,—
4 2
2| L
2. |
1 3]
3. =—
Ex.3
| L2
[2 4]
Options :

63238627961. 1
63238627962. 2
63238627963. 3

63238627964. 4

Question Number : 97 Question Id : 6323866992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




The equation of the tangent. to the curve y = x* — 2x — 3 which 1s perpendicular to the
linex+2y+3=0,1s

L4x—-2y=7

2.2x=y="T

3. 2x—p=3

4.4x—-2y=5
Options:

63238627965. 1
63238627966. 2
63238627967. 3
63238627968. 4

Question Number : 97 Question Id : 6323866992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1

Tl x+2y+3=0P A0, TP y=x2— 2x — 3 D] W 3@ BT JHER § -

1.4x—-2y=7

| ]

L2x—yp="T

LIS ]
| ]
]
I
Il
S

Options :

63238627965. 1
63238627966. 2
63238627967. 3



63238627968. 4

Question Number : 98 Question Id : 6323866993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp1
; . . : v .
The solution of the differentiable equation 2x I 5 y=14x"x>0,is

dx

1
i !
y=2x" +¢ x2

]
" 2
y=x3—|—c:x2

o

3 3 K
Ty=2x"+cx

| =

1

4. 3 =
y=X +cXx .
Options :
63238627969. 1
63238627970. 2
63238627971. 3

63238627972. 4

Question Number : 98 Question Id : 6323866993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :




Key Value

Comprehension Comp1

Sad e FHIBRO] 21-% +y=14x.x>0PITAT :
ax

1
i 1
y=2x"+¢x2

b2 —

4

y=x+cx

!
. 3 -3
“y=2x"+cx 2

Options :

63238627969. 1
63238627970. 2
63238627971. 3

63238627972. 4

Question Number : 99 Question Id : 6323866994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




Lﬂﬂwxfdmﬁd;f-jj+2£4{:2f+}-§andﬁ:}f+5j-2@£becmﬂmmnThﬂUZﬁemmlm

1.-1

Options :

63238627973. 1
63238627974. 2
63238627975. 3
63238627976. 4

Question Number : 99 Question Id : 6323866994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1

GTRER G=i-3+2k b =21 + -k TU ¢ =37 +5]- 24k TCUHACIT & fl 2. R e :

1.-1

Options :

63238627973. 1
63238627974. 2
63238627975. 3
63238627976. 4



Question Number : 100 Question Id : 6323866995 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1

A coin 1s tossed 7 times. The probability of getting at least 4 heads 1s:

| )

B 00|

L]

B

]
2
Options:
63238627977. 1
63238627978. 2

63238627979. 3

63238627980. 4

Question Number : 100 Question Id : 6323866995 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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Options :

63238627977. 1
63238627978. 2

63238627979. 3

63238627980. 4

Applied Mathematics

Section Id : 632386128
Section Number : 3
Section type : Online
Mandatory or Optional : Optional
Number of Questions : 35
Number of Questions to be attempted : 25
Section Marks : 125
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1

Sub-Section Id : 632386306



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 101 Question Id : 6323866996 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

If 57 = x (mod 5). Then the least positive value of x 1s:
1.57
2.5
3.4

4.

| B

Options :

63238627981. 1
63238627982. 2
63238627983. 3
63238627984. 4

Question Number : 101 Question Id : 6323866996 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




TR 57 = x (1S 5). Tl x BT LATH YIS TH G -
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Options :

63238627981. 1
63238627982. 2
63238627983. 3

63238627984. 4

Question Number : 102 Question Id : 6323866997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

Pure honey costs Z300 per litre. A shopkeeper adds water to 10 litres of pure honey and sells the resulting
syrup at 3250 per litre. The quantity of water added by the shopkeeper 15 :

1. 2 litres

2. 5 litres

3. 3 litres

4. 1.5 litres
Options :
63238627985. 1

63238627986. 2

63238627987. 3



63238627988. 4

Question Number : 102 Question Id : 6323866997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

T 6% B BINd 2300/eX § | TP GG 10 5 5 A U el § 3R 36e Uil 91 )
2250/ef1eR o1 5| GHFER GRI FATeTE Ul 1 e &-

12T
25T
3,37
415TR

Options :

63238627985. 1
63238627986. 2
63238627987. 3

63238627988. 4

Question Number : 103 Question Id : 6323866998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




The speed of a motor boat mn still water 1s 14.4 times the speed of the current of water, If the motor boat covers
a certatn distance upstream m 6 hours 25 minutes, then the time taken by the motor boat to come back 1s:

1. 5 hours 35 minutes
2. 5 hours 25 minutes
3. 5 hours 10 minutes

4, 5 hours 55 minutes

Options :

63238627989. 1
63238627990. 2
63238627991. 3

63238627992. 4

Question Number : 103 Question Id : 6323866998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

@ TR e ) 7 0 U o 9 R T 144 T 81 s e e v P PR g
O 35 i 2 o e 2 4 e e o o g

1.59¢ 35 firfe
59¢25fie
3.5 10 e
4,5%¢ 55 firfe

| -]

Options :
63238627989. 1
63238627990. 2



63238627991. 3

63238627992. 4

Question Number : 104 Question Id : 6323866999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

The longest side of a triangle 1s four times the shortest side. The third side of the triangle 18 3cm shorter than
the longest side. If the perimeter of the triangle is at least 69 cm, then its:

1. Shortest-side < § cm
2. Shortest-side > § cm
3. Shortest-side <8 cm
4, Shortest-side =8 em

Options :

63238627993. 1
63238627994. 2
63238627995. 3

63238627996. 4

Question Number : 104 Question Id : 6323866999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




e BII0 & Fad e R, Be a1l RR G 4 91 3 | iR T 39 Beptor o ol R G 3 It sfer g1
3R BT 7 URATT BH A B 60 T 3 o ST

1. BeT T < 8 el
2. BIeTRRT > 3 Tt
3. Bl R <5 9
4, B1eT T > 8 9l

Options:

63238627993. 1
63238627994. 2
63238627995. 3

63238627996. 4

Question Number : 105 Question Id : 6323867000 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

Three persons A. B and C enter mnto a partnership to run a business, They mvested their capitals in the ratio

%: é : % After § months B increases his share by 40%. If the total profit at the end of a year 1s 250,550, then A's

share in the profit 1s :
1.38,000
2.210,000
3.20,000
4.312.000

Options :

63238627997. 1



63238627998. 2
63238627999. 3

63238628000. 4

Question Number : 105 Question Id : 6323867000 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

i oufeRad A, B 3R ¢ 7 0 o T & o e v g o Ol i:i:%ﬁ

SR T 5T T 30 0, T 9 ST o T 250,550 B A
DI AH -

1.28.000

2.310.000
3.320.000
4.212,000

Options :

63238627997. 1
63238627998. 2
63238627999. 3

63238628000. 4

Question Number : 106 Question Id : 6323867001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension MCQ3

Match List I wiath List IT

LISTI LISTII
A [The solution set of the inequality 3x + 7 =12 L |{-],
B. [The solution set of the inequality J'T_: 2 =l,xeR Ir 13: L0
= i = ; e P - N _.'| ol i 5 N
C ThEE lfl.unon set of the inequality 2x+ 5= Tx + 9, it | 2.0
x 15, L3
D The solution set of the inequality 6x — 5= -2x+ 12, v | 4.7
"|xERis, B LS.

Choose the correct answer from the options given below:

1. A-III. B-IV. C-I. D-II

| ]

CA-IIL, B-1. C-IV. D-II

. A-L B-III. C-IV. D-II

Laa

4. A-III, B-I. C-II. D-IV

Options :

63238628001. 1
63238628002. 2
63238628003. 3

63238628004. 4

Question Number : 106 Question Id : 6323867001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




I 1 DT AT 11 P 1Y e Sifey

belll I

A Bx+7 =12 YA & gd BT GH=4 L |[-1, ]
3%+ . ;

B. | 22251 x e RIEHT & 50 B U I IHTJ_-}

D. [fx-52-2x+12, xeRIGAAM P ead P Ig=d | IV

5 5
C. |2x+5<7x+9, xR JYHdI & gd & =Y II1. ?::c-]
‘4

5y Y > i

- fod T4 faded] § Ugl STk &1 99 iy .

1. A-III. B-IV. C-I. D-II

|

AL B-LL C-IV, D-II

CA-L B-IIIL C-IV, D-II

L)

4. A-IIL B-L. C-I1. D-IV

Options :

63238628001. 1
63238628002. 2
63238628003. 3

63238628004. 4

Question Number : 107 Question Id : 6323867002 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




2x+3 3y 31 [7 -9 3
If| y+1 2x—-z -1|=|-2 —4 -1/ then the values of x, y and = are:
3 2 B

Options :

63238628005. 1
63238628006. 2
63238628007. 3

63238628008. 4

Question Number : 107 Question Id : 6323867002 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3
2x+3 3y 3] [7 -9 3
N | v+l 2x—2z -1|={-2 4 —l.%mx‘}'mz@ﬂﬁ%-
3z+41 2 5| |25 2 5
l.x=2,y=3,z=8
2.x=2,y=-3,z=8

Options :

63238628005. 1



63238628006. 2
63238628007. 3

63238628008. 4

Question Number : 108 Question Id : 6323867003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

a -2 Sh

: i ¥ 2 g
2 0 —15] is skew-symmetric, then the value of a= +b” + ¢~ 1s:
15 3 0

If the matrix

[ )
L]
e

L]
-2
L

4. 16
Options :
63238628009. 1
63238628010. 2

63238628011. 3
63238628012. 4

Question Number : 108 Question Id : 6323867003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ3

a =2 3b
2 0 -5
15 3 0

SR AT e

]wﬁm&wﬁm%sﬁa?—b—? + 2 BT A B-

| ]
LI}
s

T
| ]
L 1

4. 16

Options :

632386280009. 1
63238628010. 2
63238628011. 3
63238628012. 4

Question Number : 109 Question Id : 6323867004 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




Match List I with List IT

LISTI LIST II
A matrix which 1s not a square matrix [Non-singular
Al I :
15 called matrix

B If the determinant of anv matrix 1s

: i II. [Null matrix
non-zero, then the matrix 1s called

C A diagonal matrix having same I F.ectangular
" |diagonal elements 1s called " Imatrix

D A matrix which 1s both symmetric and
" kew-symmetric matrix 1s

IV |Scalar matrnx

Choose the correct answer from the options given below:

1. A-III, B-I. C-IV, D-II

| )

CA-IV, B-IIIL C-1L D-II

CA-IV, B-1L C-I1, D-III

L]

4. A-IL. B-1. C-IV. D-III

Options :

63238628013. 1
63238628014. 2
63238628015. 3

63238628016. 4

Question Number : 109 Question Id : 6323867004 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




e 11 gt 11 3 i Sifoe

Gl i
N R off fov 97 T8 el & r HhHUTT
el Gl T
TR o4t 3HToYE &1 GRUIG 3T & dl 3
B e 3 1. R 3Tgg
o [FRIa@l ooy & Wi fapul ofgdd |, [STIETOR
U AT off f gl JAAT AR faua- |,
D. | 3 IV. [rfcRrsnegs
FafaRad famedl § 9 W8l STk &1 994 BIfoly -

1. A-IIL. B-1. C-IV. D-II

2. A-IV. B-11I. C-I, D-II

I

CA-TIV, B-IL C-I1L D-III

L]

4. A-IL. B-1. C-IV, D-III

Options :

63238628013. 1
63238628014. 2
63238628015. 3
63238628016. 4

Question Number : 110 Question Id : 6323867005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




+

I 2y .
If x=logtand y = —-. then d_L 18
G dx”
Yy
2
e
2
-_
JI L.
t
4
4. -—
2
Options :

63238628017. 1
63238628018. 2
63238628019. 3

63238628020. 4

Question Number : 110 Question Id : 6323867005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

| 2., =
SWI(:lD_EtG?ﬁT_}’:—_“fﬁd_-r B-
dx”

| S

bt
|
|

Options :



63238628017. 1
63238628018. 2
63238628019. 3

63238628020. 4

Question Number : 111 Question Id : 6323867006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

A company produces bikes at the rate of x bikes per day and its total cost function

. \ ] 7 . . . . .
is C(x) =x° = 60x* + 13x + 50. The optimal number of bikes produced per day at which the marginal cost is
DI 15 |

1.15
2.40
3.20

4.25

Options :

63238628021. 1
63238628022. 2
63238628023. 3

63238628024. 4

Question Number : 111 Question Id : 6323867006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension MCQ3

TG SO 15 WIATE 1 & 8 G151 61 TG el ¢ | SR 391§l VT Bk () = - 60 +
13x-+ 50 8| M SI51 o1 S BT St iafer fec1 g1 b i T gam gl

1.15

2.40
3.20

4.25

Options :

63238628021. 1
63238628022. 2
63238628023. 3

63238628024. 4

Question Number : 112 Question Id : 6323867007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

. ' = ¢ .
Two positive numbers x and y whose sum 1s 25 and the product x3_r 1s Maximum are:
l.x=10,y=15

2.x=18.9=10

3. 5=12. 9513
4.x=16,y=9
Options :

63238628025. 1



63238628026. 2
63238628027. 3

63238628028. 4

Question Number : 112 Question Id : 6323867007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

&l SFTHS YT x 3R o1 a1 25 8 3R )2 S=FaH &l a8 il -

L. x=10:9=15%

2.x=15,y=10

3.2=12, =13

4. x=16,y=9
Options :

63238628025. 1
63238628026. 2
63238628027. 3

63238628028. 4

Question Number : 113 Question Id : 6323867008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




The point on the straight line 3x + 4y = 8, wlich 1s closest to the origin 1s:

13 |?1
24724 )

| )

24 321

25725

L)

5 7))
Kz4‘z4J

Options :

63238628029. 1
63238628030. 2
63238628031. 3

63238628032. 4

Question Number : 113 Question Id : 6323867008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




TRA @ 3x + 4y = 8. W g ol IR fog ¥ Focan 1. 8 -

Options :

63238628029. 1
63238628030. 2
63238628031. 3

63238628032. 4

Question Number : 114 Question Id : 6323867009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

If the function f (_}() =alo QX +—sax has extreme values at x =1 and x =3, then (a, b) 1s:
X



Options :

63238628033. 1
63238628034. 2
63238628035. 3
63238628036. 4

Question Number : 114 Question Id : 6323867009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

mw‘f(x)=alUgX‘Fg{'){ﬁa{W-'meﬂﬁ?xﬂ.q_{%ﬂ)f(a.b)%.
X

Options :

63238628033. 1
63238628034. 2
63238628035. 3

63238628036. 4

Question Number : 115 Question Id : 6323867010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

Let X be a discrete random variable whose probability distribution 15 defined as :

0.5 L,if x=0
k(x+1) ,if x=lor2
k{fl—.r) Jf x=3o0r4

0 . otherwise

P(X =x)=

The. value of k 1s:

!_LJ
|_

| —

Options :

63238628037. 1
63238628038. 2
63238628039. 3
63238628040. 4

Question Number : 115 Question Id : 6323867010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




i X U 38dd defesd =R ¢ forge! Widdl ded 59 YHR aRHING §

0.5 ,if x=0

L R

k{ﬁvrx) Jf x=3o0r4

| 0 . otherwise

4 &k &1 HHF &-

1L
10
5 1
<20
|
.j._
2
41
4
Options :

63238628037. 1
63238628038. 2
63238628039. 3

63238628040. 4

Question Number : 116 Question Id : 6323867011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




Between 3 p.m. and 5 p.m. the average number of phone calls per minute coming info the helpline desk of a
bank is 5. The probability that during one particular minute there will be only one phone call 1s :

1.05e?

2, 5¢

-3

e
4,257

Options :

63238628041. 1
63238628042. 2
63238628043. 3

63238628044. 4

Question Number : 116 Question Id : 6323867011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

% 40 & TeMd] o5 I 19 U 3R 90 5 & 919 3 a7 BF &7 4ga F1a 3 s v e 8 | 1@
{13y fire § %ad U3 BF 3 31 Wiwdl ¢-

1,0.5¢7
2, 5¢7
3, c'j
4,25¢

Options :
63238628041. 1
63238628042. 2



63238628043. 3

63238628044. 4

Question Number : 117 Question Id : 6323867012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

If the sum and product of the mean and variance of a binomial distribution are 18 and 72 respectively, then the
probablity of obtaining atmost one success is

\24
L 35[ '

3

‘ I"N
3.24| -
2)

4

b2 | —

1

4I 2411‘:_
:1\2)

Options:

63238628045. 1
63238628046. 2
63238628047.3

63238628048. 4

Question Number : 117 Question Id : 6323867012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ3

T 319 §C & H1e X TRV 1 T SR TUF ST 18 3R 72 1 61 ¥ P U S| I et
! e -

Options:

63238628045. 1
63238628046. 2
63238628047. 3
63238628048. 4

Question Number : 118 Question Id : 6323867013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




Match List I with List IT

LISTI LISTII

The variance of a Poisson distribution —

A o L |JA
with mean 2. 18

B. The standard deviation of a Poisson o s

distribution with mean A 1s

In a Potzzon distribution, 1f mean 1z 4,
then the standard deviation 1s

IIL. .

In a Potszon distribution, 1f mean 1= 4,

: : IV |2
then the variance iz

Choose the correct answer from the options given below:

1. A-III. B-I. C-II. D-IV

| )

CA-IIL B-LL C-IV, D-II

CA-L B-IIL C-IL D-IV

L]

4. A-L. B-IIL. C-IV. D-II

Options :

63238628049. 1
63238628050. 2
63238628051. 3

63238628052. 4

Question Number : 118 Question Id : 6323867013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




T 11 = 11 P 1Y e DI

Sl el
A_;mﬁaﬁﬁumuu,mmmﬂw L vz
o [0 @ ded & AEE e | |,
[ @ 91 B- '
c U G \E'EEFIF&FRHT‘EH4%__E|T o b
N ACEREE =P
b [ @EHEH sFRAE 4T |, |
ISR §- |
= 30 T fageal § It 3O &1 994 DI -

1. A-IIL. B-1. C-1I. D-IV

2. A-IIL B-1. C-IV, D-II

I

AL B-IILL C-IL. D-IV

L]

=

- A-L B-IIL. C-IV, D-II

Options :

63238628049. 1
63238628050. 2
63238628051. 3
63238628052. 4

Question Number : 119 Question Id : 6323867014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




Consider the following data:

. Price Price uantity uantity
Commudity, | coomin | sveanii 'gar 2010 ‘?'ear 2016
A i 2 10 13
B 5 10 12 16
C 6 10 5 18

The Laspeyre's price index number for year 2016 with year 2010 as base year 1s:
1. 160

2. 200

4.170

Options :

63238628053. 1
63238628054. 2
63238628055. 3
63238628056. 4

Question Number : 119 Question Id : 6323867014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




U U sildsi IR fdaR Sifoiw

HTAT T
UUg | qeaad 2010 | qegad 2016 | AEATEE2010 | o
A 1 2 10 13
B 5 10 1 16
C 6 10 15 18
Ty 2016 o [O10 TER-Hod YADiD ST o1 1T TG SMYR a4 2010 §-
1. 160
2.200
3. 150
4.170
Options :

63238628053. 1
63238628054. 2
63238628055. 3

63238628056. 4

Question Number : 120 Question Id : 6323867015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




Given the data for the sales of a product in a state 1s as follows:

Year 2005 2006 2007 2008 2009
Ifl‘:ﬁikh 3 150 130 160 170 200

The equation of the straight-line trend by method of least squares 1s:

1. 14 + 162x

[ ]

126 +15x

Lo

128 + 14x

4. 162 + 14x

Options :

63238628057. 1
63238628058. 2
63238628059. 3

63238628060. 4

Question Number : 120 Question Id : 6323867015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




U% I H U Ide & 360 & 3fidhs SUUBR [GUTU g

au 2005 2006 2007 2008 2009

||E'E'”:I ; 150 130 160 170 200
@A H)

S a7 fafd §RT 3Ufd TR 3@ &1 GHIaRU g -

1. 14 + 162x

2.126 + 15x
3.128 + 14x

4. 162 + 14x

Options :

63238628057. 1
63238628058. 2
63238628059. 3

63238628060. 4

Question Number : 121 Question Id : 6323867016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




The price relatives and weights of a set of commodities are given as:

Commodity A B C
Price Relative 150 (130 J180
Weight ¥ E> S |1

If the sum of weights 15 30 and the index for the set 13 144, then the values of x and y are:

lLx=6,y=8
2.x=8,y=4
3.x=6,y=6
4.x=35,y=10
Options:

63238628061. 1
63238628062. 2
63238628063. 3
63238628064. 4

Question Number : 121 Question Id : 6323867016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




0% qudi & F= P TedTaTd AR YR 39 YR (U MU 8:

o A B C
Hedard 150 130 180
HT 1S 3 v

3R HRI BTG 30 § 3R GHoIU & YIDID 144 7, Al x ARy PTHAA -

L pes

o
=
I

s
b~
I

e

Laa
-
I
ZA
-
I
Lo

Options :

63238628061. 1
63238628062. 2
63238628063. 3
63238628064 4

Question Number : 122 Question Id : 6323867017 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




Consider the following hypothesis test:
Hy: 220
Hy:p<20

A sample of 64 provided a sample mean of 19.5. The population standard deviation 1s 2, The value of the test
statistic 13:

1.-25

-

3.2
4.-15

Options :

63238628065. 1
63238628066. 2
63238628067. 3

63238628068. 4

Question Number : 122 Question Id : 6323867017 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




fFrafeiad uRee1 gliem R faaR $Ifou -
Hy:p=20

Hy:p<20

TF 64 ATH & GRS BT AT 19:5 B | SHUET IS faga 2 51 IRST ST HH &

1:-2.5

4-15

Options:

63238628065. 1
63238628066. 2
63238628067. 3
63238628068. 4

Question Number : 123 Question Id : 6323867018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

A simple random sample consists of five observations 2, 4, 6. 7, 6. The point estimate of population standard
deviation 1s:

1.4

Options:



63238628069. 1
63238628070. 2
63238628071. 3

63238628072. 4

Question Number : 123 Question Id : 6323867018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

TS TRV Afe(es® TR e O TUael A § 2.4.6,7.6, 5, 5901 GHI A [daeH @I
HHe 42 -

Options :

63238628069. 1
63238628070. 2
63238628071. 3

63238628072. 4

Question Number : 124 Question Id : 6323867019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension MCQ3

Match List I with List IT

LISTI LISTII
A A special characteristic of a population
" his known as a:

I. [statistic

B A special characteristic of a sample 13 I Confidence

" [known as a: interval

C The uncertainty of a sampling process 1s
" lexpressed by:

The process by which one makes the

D inferences about a population based on

" [the information obtained from a sample
15 known as:

III. |[Estimation

IV |Parameter

Choose the correct answer from the options given below:

1. A-II. B-III. C-IV, D-I

| R}

CA-LL B-IV. C-I1L, D-III

CA-TV, B-1. C-I1, D-III

Taa

o

CA-IV. B-1. C-II1, D-II

Options :

63238628073. 1
63238628074. 2
63238628075. 3

63238628076. 4

Question Number : 124 Question Id : 6323867019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




T 1 G 11 ¥ foeH ifory

Gl gqa
A [0 S 31 1@ R HuweiE s o6 - 1 et
B. [0@ THGY @1 UH (917 A& S o Il & - . [4Taa R
C. [0 GGG fAPTY 1 A& o il 6 - IIL |3@a
D. |73 gHeH W HIRT G | U0 SHUEH B 5N H T 3AH o &l Wispdl | 1V [gred
e fdpedi 5 ¥ gl SR &1 98 iU

1. A-IL, B-IIL C-IV, D-I
2. AL B-IV, C-IL, D-III
3 AV, B-L C-IL D-III
4. A-IV, B-I, C-IIL D-II

Options :

63238628073. 1
63238628074. 2
63238628075. 3

63238628076. 4

Question Number : 125 Question Id : 6323867020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




The present value of a perpetuity of 21200 payable at the beginning of each year, if money 15 worth 5% per
Anmum 1s:

1. 225,500
2,324,000
3,324,200
4.325.200

Options :

63238628077. 1
63238628078. 2
63238628079. 3

63238628080. 4

Question Number : 125 Question Id : 6323867020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

B Y P ToTd H U WU (Wekd) P 21200 39 8, ] GiHH HI 8, 3N 5% Wil 79 7 -
1. 225.500
2.324,000
3.324,200
4,325,200
Options:
63238628077. 1

63238628078. 2
63238628079. 3



63238628080. 4

Question Number : 126 Question Id : 6323867021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

A person takes a car loan of 79,00.000 at the rate of 12% per annum for 5 years from a bank. The EMI under
flat rate system 1s:

1.724.000
2,320,000
3,216,000

4.328,000

Options :

63238628081. 1
63238628082. 2
63238628083. 3

63238628084. 4

Question Number : 126 Question Id : 6323867021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




U9 80 ¢ U0 dfad 5 91 & [0 12% i a8 &1 &2 9§ 29,00,000 PR BV Gl 3| 71 GUIC SR A &

1. 324,000
2.320.000
3,216,000
4,328,000

Options :

63238628081. 1
63238628082. 2
63238628083. 3

63238628084. 4

Question Number : 127 Question Id : 6323867022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

An asset costing 22,00.000 15 expected to have a useful life of 10 years and a final scrap value of 740,000 The
book value of the machine at the end of sixth year 1s:

1. 31.36,000
2.31.04,000
3.21.20,000
4,388,000
Options:
63238628085. 1

63238628086. 2

63238628087. 3



63238628088. 4

Question Number : 127 Question Id : 6323867022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

T 31T (TH) Forerel T 22,00,000 10 161 o T wieHf et & ferl ST & 31 0@ gffe
G (8) 1AM 240,000 §1 6 el & 37 7S0i 1 Gl () AT -

1.21.36,000
2.31,04,000
3.31,20,000

4,388,000

Options :

63238628085. 1
63238628086. 2
63238628087. 3

63238628088. 4

Question Number : 128 Question Id : 6323867023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




The maximum value of Z = 3x + y subject to the constramnts x + y<30, 2x + <40, x, 3> 0 18

1. 50

4.60

Options :

63238628089. 1
63238628090. 2
63238628091. 3

63238628092. 4

Question Number : 128 Question Id : 6323867023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

Z=3x+y B AUHTH AH TR x + y <30, 2x + y<40,x, y= 0 B YT ;

1. 50
2. 30
3.25
4. 60

Options :

63238628089. 1

63238628090. 2

63238628091. 3

63238628092. 4



Question Number : 129 Question Id : 6323867024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

The miimum value of the objective function Z = 30 x + 10 y subject to the constraints
x+2y<30,3x+y>30,4x+3y>60,x,y>01is

1. 100
2. 450
3. 300
4. 1200

Options :

63238628093. 1
63238628094. 2
63238628095. 3
63238628096. 4

Question Number : 129 Question Id : 6323867024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




SR 1+ 29 <30, 3r+7> 30, 4y + 3y > 60, x, 1> 0 D WY Fe BT Z =30+ 10y FI LM A &
1.100
2,450
3,300
4.1200

Options :

63238628093. 1
63238628094. 2
63238628095. 3

63238628096. 4

Question Number : 130 Question Id : 6323867025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




Match List I with List IT

LISTI LISTII
The set of values of decision variables
A which do not satisfir all the constraints .
" |land non-negativity condition of an LPP | >
15 called:
3 In a LPP. the objective function 1s I Convex
" lalways _|polygon
. |In a LPP, the linear inequalities on [nfeasible
C. : II1. .
variables are called: solution
D. ?LE feasible region for an LPP 1s alwavs B leahatin

Choose the correct answer from the options given below:

1. A-I. B-IIL. C-IV, D-II

| ]

CA-IV, B-IILL C-IL D-II

CA-IIL B-1. C-IV, D-II

L}

e

CA-IL B-LL C-ITL D-IV

Options :

63238628097. 1
63238628098. 2
63238628099. 3

63238628100. 4

Question Number : 130 Question Id : 6323867025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3




el 11 el 11 @ A o

Gl G
[T R 1 W T O O U o0y oY TN ea e an |
NSRRI '
B. [7 e U1 U1 H, 4% W G i & 1L ofa R
C. |70 T 01 U § o) R 1Y A Begald § 111 |94 &
D. [ et o o o folt 7T &7 R W €l IV [y

FgfeiiRed ool 9 Wl SR Pl 98 Bifoid

1. A.L B-IIL. G-IV, D-II

2 AV, B-IL C-L D-II
3. A-IL B-L, C-IV, D-II
4 AL B-L CIL DIV

Options :

63238628097. 1
63238628098. 2
63238628099. 3

63238628100. 4

Sub-Section Number : 2
Sub-Section Id : 632386307
Question Shuffling Allowed : No

Is Section Default?: null

Question Number : 131 Question Id : 6323867026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




In 1000 metres race, P, Q, R scored first, second and third positions respectively. If P beats Q by 100 metres
and Q beats R by 200 metres. then the gap between P and R 1s:

1. 300 m

2.280m

3.260m

4. 240m
Options:
63238628101. 1
63238628102. 2

63238628103. 3
63238628104. 4

Question Number : 131 Question Id : 6323867026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2

T 1000 HCR G H, p, Q, R A o, T IR 70 UM O 3R p, Q.1 100 X F 6T & R QR
1 200 HeX UGN § a1 P 3R R o &l BT AR 5

1.300 .
2,280t
3. 2601
4,240

Options :
63238628101. 1
63238628102. 2

63238628103. 3



63238628104. 4

Question Number : 132 Question Id : 6323867027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2

5

3 2
If y=log, (_TTJ , then d’y 1s equal to

e dx”
3
by
X
2
¥ e
s 35
X2
3
F T
X
2
4. -Z
X
Options :

63238628105. 1
63238628106. 2
63238628107. 3

63238628108. 4

Question Number : 132 Question Id : 6323867027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension Comp2
" W30 ,f3
X = 4
AR y:lugu(_jj.a‘r‘ Y X
e dx”
.
L —
X
-]
= r
X-
3
2 Ty
X
2
4=
b
Options :

63238628105. 1
63238628106. 2
63238628107. 3
63238628108. 4

Question Number : 133 Question Id : 6323867028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




The probability distribution of a diserete random variable X 1s given as :

3

X 0 1
3 k] k

P(X) pid B2

Lad |12

The mean of the distribution 1s :

!_u
| d=

| LA

fad
o | =

Options :

63238628109. 1
63238628110. 2
63238628111.3
63238628112. 4

Question Number : 133 Question Id : 6323867028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




[

U Edd Tl =R X & UIiidal ded o

X 0 1
PX) | |

Lid | 2

T |

-

k

SHECA PIHH G :-

i |

| ]
a| Ln

faa
o | =l

Options :

63238628109. 1
63238628110. 2
63238628111.3

63238628112. 4

Question Number : 134 Question Id : 6323867029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




The wholesale price index of sugar in 2018 compared to 2015 18 125. If the cost of sugar was 220 per kg in
2015. then the cost of sugar m 2018 1s:

1.225 perkg
2.330perkg
3.7 15 perkg

4. 345 perkg

Options :

63238628113. 1
63238628114. 2
63238628115.3

63238628116. 4

Question Number : 134 Question Id : 6323867029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2

2018 T 1 1 2ieh IR T Fahieh 2015 B G T 125 1 AR A 1 Bied 2015 F 220 9 fooon
4t 2018 H 9t ol BT B

1.2 25 faT
2,730 fobom
3,215 foT
4,745 67

Options :
63238628113. 1

63238628114. 2



63238628115. 3

63238628116. 4

Question Number : 135 Question Id : 6323867030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2

The corner points of the feasible region for an LP.P are (0. 4), (2. 3). (4. 5). (7. 0). If objective function is
Z=px+q:p.q>0then the condition on p and q so that the minimum of Z occurs at (2, 3) and (7, 0) 1s:

1.7p=4q

2.5p=3q

aa

Ap=q

43p=5q

Options :

63238628117. 1
63238628118. 2
63238628119. 3

63238628120. 4

Question Number : 135 Question Id : 6323867030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




Qﬁﬁﬁé%ﬂwwaﬁﬁﬁq 4) 7.0)§1 R e
BT Z=px+q:p,.q> Ofﬁ?flﬂﬂz 2.3) 3R (7.0 Wﬁﬁ%ﬁqpmqﬁﬁ@jﬂ

1.7p=4q
2.5p=3q
3.4p=q
4.3p=135q
Options:
63238628117. 1
63238628118. 2

63238628119. 3

63238628120. 4


Free Hand

Free Hand


